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MATHI3 [4FIESTACOREQMD I 50-Alfredo Alvarez
o a5-v1-11
'Student: Instructor; Alfredo Alvarez Assignment: 0 §¢5-/ 5 |
|Date: — Course: M:a_\t_t! 1314 Alvarez MATH1314FIESTACOREQMD150 _‘(0
z /4
Evaluate the algebrai ion for the given value. =
uate the algebraic expression for the given value ( 7) o é [ 7 ) ~{"3’ ‘/4’
-~

1.

(7)) — 6O+ 8=

x2-6x+8, forx=7
When x=7, x2-6x+8=:|_ 47 o ?Z ,_fiz
7t7%

(Simplify your answer.)

Answer: 15 C—S,_ .
i .

2. Simplify t;e exponential- e_x;r-es-s;ion. ( 3 ) /..-q ) )( 3 ‘l‘f 7 / 7_‘_/ l

(-54%y) (-9
(=56%9) (<8842 -] G5 )( 7

Answer: 45,1113
e D e e I
: — "_? é
- 20) x "y

3. Simplify the exponential expression.

~9x’y® — (}) X‘/y 7 —
' 7Y 6-

3y

- gx —
y [ (Simplify your answer. Use positive exponents only.) 3 X «7

axy?

Answer: _ 3,34

4. Simplify the exponential expression,
7 X =

() ~*
(7x5) "2, :! {Simplify your answer. Use positive exponents only.) 7
-A -z S

Answer: 1
49x"2 7 )( .
2 w1t
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5. Simplify the exponential expression. ( 2) ( 6} a 4) L )
3
- 12a2p® f‘r’) d §+y
6a%h 4 ( —R L Z)
— 6"" 7

-12a°b :
———nil = (Simplify your answer. Use positive exponents only)
6afp 4 -

3 36 -
Answer.  g,36 . “a (’_ 7_) é
KT ,C—’—— Cf)f(m) e
6. Simplify. '0/,,‘,‘,,} Z } f 7 /t /2 (7 -
Yag jzjf
R — U«Z 3
(Type an exact answer, using radicals as needed. Simplify your answer.) 3 ’2 ,,l 3

Answer: 2% 2 /: W -2

p—— = ——

7. Evaluate the expression without using a calculator. // /ing 2 / 3/ r/

956174 2 ;7) Z

:256‘I 42 S (Simplify your answer.) \ :
2& =) Ra2

Answer. 4 B

8. Use radical notation to rewrite the expression. Simplify, if possnble Z
/A /7

82/3

’Zéf f
=

Answer: 4
p>
(2 )
/

e —
2of 60 — —_— =i — 47817019, 7-11 PM
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9. Perform the indicated operation.
(-ax3 +6x - 7x+8) + (9x° + 8x® - 3x - 10)

Write the polynomial in standard form

(-ax® +6x% -7x+6) + (9x° +B‘x - 3x- 10)1:""/ / = ve /

Whatisthe deqree of the polynomial? V)( 7L6K '—74/’7‘6 _(_ 7)( —Ir'f}( ,-.3)< 7/0._

(Type a whole number))

$x° H1ex T oA — = \}

Answers 5,3 + 14x2 - 10x - 4

3

10. Perform the indicated operation.

(10x3 - 7% + 9x-8) - (4x® -5x% - 10x +86)

Write the poiynomial in standard form.

(10x° -7x% + 9x-8) - (4x® - 5x -10x+e}=’ T - v )
/ _-""
What is the degree of the polynomial? = —_
/X 7,( —fﬁ/,—f-—%(“f-f:( ‘/‘/3>§—£
(Type a whole number.) - o ey ~
Answers gy - 242 + 19x - 14 69( —2X T /? X #/Y s ,-\

_'_'_,.r""

3

(x = 3)(xZ + 3x +9)

| i M\/ o
1. Find the product, ; o i
X594 ~3 9% 2 7-
(x-3)(x2+3x+9)= f (Simplify your answer.} B

Answer: 43 _ o7

et .
12 Findihe produgte——_ 5)('}‘{5)(1—6‘07( ‘F?XL;P'}f)("f/Yt

@x+7)(x% +5x+2)

Exen(Pasxra)= g

{Simplify your answer.) 3)( __(_ 2 L )( '_f' L/'{ )( ',7;_/ Y — .‘
Answer: 3% 4 2247 + 41x+ 14 o e

EEL 417870010 7-11 DN
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Mﬂg
13. Multiply. (/r"f ﬁ)\_(/)('f‘ﬁ) =
. v tx A+ T Y E

i & ﬁ""\\;

(x+9)(x+2)= (Simplify your answer.}

Answer: 42 4 11x + 18

14, Find the product. 6(,.- / y ()(—-Fj ) =

(x—12)(x + 3)

— Y- £ 3 x —IlA—SL 6=
(x=-12)x+3)=| T 3 G, T J
Answer: 42 _ gy - 36 )( % X — —
15. Use the FOIL method to multiply the binomials. (6 X [) ( 3 X~ g/) _—
| (Bx+ 1)(3x + 4) g)( ——f‘ ¢ Kt 3o =
(6x+1)(3x+4)= {Simplify your answi

er.)
Answer. 1852 +27x +4 @_» ’_(- 2 K /(_//_//’)
16. Find the produ;:t. ( _ z‘m)(:’;j— j

{(Sx=2)(2x+7)

Gx-2)2x+7)=[ ] /O)(L —f’ 3_.77( =Lk 7&__-—*/% =
Answer: 10,2 + 31x - 14 %% _("'_3 / )( r-—/5/ - 3

_,_.—-""'rr/
17. Find the product, ??\
(x=T7)x+7) (/t/ L )(—F’?)
(x—T7)(x+7) =| (Simplify your answer.) )(,L -(— }4( .-_7/ (7/ ‘7 —
Answer: 42 _ 49 Q ’L___ 9/ (_/s __‘,,,/

18. Multiply using the rule for the product of the sum and difference of two terms. / 6, {f;?.y >( 7) —
(8x+7)(8x~T7) =
U — S £ A6 =
— 6%« ey A P

Ceex' =55 =

4 nf6h

4/28/2019, 2:11 PM
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19. Multiply using the rule for the square of a binomial, X —f
(x +3) 6(,_1'!5 —3 ) <

(x+3)2=[_—l )( ’_(C 3)(’_(_ 3:(’_( 7 z
Answer: 42 ¢ gy + 9 L )( *7‘“ G {"f ? _:_,.x}
— ';0. Find the;;;; (‘3 m) ——

oot (3x~+2)( (zx,m) s
Goisl Iy g L~+ e Y

Q%( ”f‘/Z,(—fV_/)
Z

21.  Multiply using the rule for the square of a binomial. QV"— / / .

ity T

Answer: gx2 4 12x + 4

s

x-12=|———_]
e {fﬁuxr—uo«—f’/Zl
Answer: 42 _ 9oy 4 121 )( .-—-0'22)(7&/’2

22. Find the product. V"_ 3__

: =4 (V- () =)
-’ (x—)(X" *H‘v —~¥x+/6)7

Answer: 3 _ 125 + 48x - 64 ()(”V)()( —-3(-—/‘/6)2
X 2 — B £l —Fpltai R -cre

23. Use the FOIL method to multiply the binomials.

(x = 4y)(5x + 2y) ()(9’ 7) (5_/('7‘. Zq) z
(x-4y)(5x+2y)=:(8implify your answer.) gn )( 'y —t X 7 - ZC? )(L? 87 &

Arswr: 52 - 151y 847 Q’X —[ X g — y ] =

\

> (N

5 nf A 4/28/2019. 2:11 PM
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2 9‘3(—@-) /9&)(,./,3—.7):
(4x + 5y)
dxeop= ] /C;('L Pﬁ ¢0X7 ~t ZQ )Cj — z,r7
Sl A e Qé b Fox 7+ 25 f7 e

MATHI314FIESTACOREQMD | 50-Alfredo Alvarez

24, Find the product.

25, Findtheprm.:luct. (“/ y()( +7X’7"(‘ i}
(x-v)(x2+7xy+v
X+7X7—H<j -—/>()-—7x) y

(x=y) (P + 7y +y?) =
(Simplify your answer.)

o o @ —oxg Ty

26. Multiply using the rule for the product of the sum and difference of two terms. /’_ o .
373 j) -3y) =

(S5x + 3y)(Sx - 3y)

S — 2 cxC— (K9 + (525 —TY
Answer: 25,2 — gy? @ £ )( L — 77

27. Factor the polynomial using the greatest common factor. If there is no common factor other than 1 and the polynomial
cannot be factored, so state.

4x+10 (/)(,7:/0 T

Select the correct choice below and fill in any answer boxes within your choi@ ( Z )( . )?\
- -

O A 4x+10=
() B. The polynomial is prime.

Answer: A. 4x+10=| 2(2x+5)

| —
. (&
28. Factor the greatest common factor from the polynomial. ?
OX T/iX = _
30x% + 12x )
_f~ Z
Select the correct choice below and fill in any answer boxes within your chojce. éD( (9 )( 9\

R

O A 30%% +12x =
() B. The polynomial is prime.

Answer: A 30x% + 12x=| 6x(5x +2)

£ afin 4787010 2-11 PM
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29. Factor the given polynomial.

K+ 7x+10

Select the correct choice below and, if necessary, fill in the answe

OA 2i7x+10=
() B. The polynomial is prime.

Answer: A, X% +7x+10=] (x+5){(x +2)

— e ——

- -

30. Factor the trinomial, or state that the trinomial is prime.

L
x? - 8x =20 : X - 5)<FZD

Select the correct choice below and fill in any answer boxes-withi oi r——\
-

QA 2 _gx-20=

() B. The polynomial is prime. —_—
Answer: A, X% -8x-20=[ (x=10)(x+2) |
e

31. Factor the given polynomial.

X" —-5x+6

Select the correct choice below and, if necessary, fill in the answer _gxm;thnn—yourcﬁo:ce S

e C (96D

() B. The polynomial is prime.

Answer: A, x2 -5x+6=| (x=3)(x-2)

o P
. — = 2 -~ /L
32. Factor the trinomial completely. 7)( E_ / 5 )(P_Z/ i@
7x° - 13x -2

Select the correct choice below and, if necessary, fill in t%

OA 7@-13x-2=  (Factor completely.
() B. The polynornial is prime.

Answer: A. 7x% - 13x-2=(7x + 1)(x —- 2} | (Factor completely.)

R SN

T af 4/28/2019, 2:11 PM
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33. Factor the trinomial, or state that the trinomial is prime. @

2a° - 9a-45

Select the correct choice below and fill in any answeW
ﬂz a—15) (Ou — ?)

O A. 232-93-—45=

() B. The polynomial is prime.
_H_._'_,_o—"'

Answer: A, 2a°-9a-45= |(2a—15){a+3)

s s e e e G ST - =
34, Factor the difference of two squares.

W\
G —b'= (s %—4/\

’
Select the correct choice below and fill in any answer boxes within your choice. l—- —
X —(e1=

OA 2o121= ()() —( I
) B. The polynomial is prime. (X”f ' : ) ( )( { ‘ )
Answer: A. x° - 121= m ‘//)
35. Factor the difference of two squares. \
: ( é / ot é)/f )

X2 =121

4%~ ~- 49

Select the correct choice below and fill in any answer boxes within your choice. -

O A 4x%-49=

() B. The polynomia! is prime.

Answer: A. 4x2 -49= '(Zx +7TH2x - 7)1.

36. Factor the difference of two squares.

B1x? - 196y°

Select the correct choice below and fill in any answer boxes within your choice.

(o L_
| [x=—1767 =
DA gid-1e8y2= .

() B. The polynomial is prime. ( 57‘) /(/ T 0

/G/ﬂ‘/ﬁ“?)/q)(_/ylj)

Answer: A. 81x - 196y> =[(9x + 14y)(9x — 14y)|

@ WfEn 41282019, 2:11 PM
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37. Factor the perfect square.

L 5
X% = 12x+36 )( —~ /1 X—f}éé

Select the correct choice below and fill in any answer bommthm.;mn‘_nhm;_e

OA 2 _12x+36=
) B. The polynomial is prime.

N
Answer: A, x2-12x+36=_ (x"ﬁl2 C’—é -

— - _— - — - =T Y I

38. Factor the perfect square. /ﬂuf
25x% - 10x + 1 Z g'j( ,-——/O)<_r£/ - /'/
Select the correct choice below and fill in any answer boxes mtl:mgtoumhme._____ 5- S
N I T2 =
(0 B. The polynomiai is prime. Ve i
rd
Answer: A, 25x% - 10x + 1= (5x---1)2 (g—)(f_ ‘) e
39. Factor the expressi pletez:ﬁl'mmmh’fﬂm\\ 7 3,._ % -
s rm o ( ) )( ) X
L“‘ ﬁ;—fé A 9‘/()(.-—.’)2
Select the correct choice below and fill in any answer boxes within your choice.
< (K)°—(09 -
DA 433 -ax=
(Factor completely.) (:0 )( ( ><_F ’ ) ( {_ { ) )
() B. The polynomial is prime.
Answer: A. 4x3 = 4x = [4x(x + 1}{x = 1}|(Factor completely.)
g

40. Factor the trinomial completely.

——— e ————s
(’529,,1/ ) SX Lf/S‘)('f/O =

5% + 15x + 10 L | f()( + 30— 2_) -
f()( -(-()6(7‘2 )=

Select the correct choice below and fill in any answer boxes within youre

O A 52+ 15x+10=
(Factor completely.)
() B. The polynomial is prime.

Answer; A. 5x% + 15x+ 10 =i 5(x+1){(x+2) | (Factor completely.)

0 wfan 4282019, 2:11 PM
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0S5 .( [? / P

41, Factor the expression completely or state that the polynomial is prime. 5’{ i ,( o QO ras

5x% = 5x - 60

Select the correct choice below and fill in any answer bo

OA. 52 _5x-60=
{Factor completely.)

() B. The polynomial is prime.

Answer; A, 5x2 -5x-60= l 5(x + 3)(x - 4} |(Factor completely.)

. e — e — ___ = .
42. Factor completely, or state thatthe polynornlal is prime. % ur/h \ Z' )< '____3 2 7( -
T R T e 10
n'_____.—‘_______._.—-ﬁ-""_'_'_'_ ( p—— i
Select the correct choice below and fill in any answer boxes within your choice. 2)<

O A 2x3 - 32x = 2')( 4(4()< ""/V) {) —
O B. The polynon:ialispT C/'-/_Zj X ( ( —t (-/) ( /( & )

Answer: A, 2x° - 32x = 2x(x+ 4)(x~4)
'llu-__T,_

43. Find all numbers that must be gxcluded m e dorl'\gln_df the rational expression.

x—2

x2+4x+3

Type the values for which the rational expression @elect the correct choice below and fill in any answer boxes

within your choice, —4._* 1
O A. {Use a comma to separate answers as needed.) { ’_f C/ '( '_fj -

() B. The rational expression is defined for all real numbers. <>< ’f-D ( )< -,‘-_F?) -5

Answer. A. | -1,-3 {Use a comma to separate answers as needed.)

/\\/_1; ’l =0 Qﬂ_ _Xef 15
XAl ~ = a—/

o sl A e

0~ ER 4/282019. 2:11 PM
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44. Divide as indicated.

x+6 2x+12
+

9 5

Select the correct choice below and fill in the answer box(es) to complete your choice,
(Simplify your answer. Use integers or fractions for any numbers in the expression. Use a comma to separate answers as

needed.)
OA x;6+2x;12= »
O B. x;6*2x;12= , No numbers must be excluded.
Kzl . WX
T s
> k
4G ) )
% R (e
Y C2E ,—-—-——S_ &
—5 ¢ 2(xre)
b,—/a.{'/ Z
5 .
7.~
S.-———
77

1 _Ern 4/28/201 9.. 2:11 PM
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45,
a the graph that connects the points.

Find seven ordered pairs to the equatigh y = X2 -2 ‘en
determine its graph.

- (=%} _. L o - ’:
Answers 7 \j-( )Z B (/y(’/s) U= ﬂ '
2 Yooz < (UED-TE LR
b Jeptee = (VRIS -2 w | ol
e e — —1_
i 7'5(0)1**& <(o)H-2= 97F 2/ &
7

N (\)L—z,:_ (\)(\)"L’f— -1 = —\

- (2) LL =~ ())-t= L= L

?1(3)1—1,': (2)('3)——1.': 9-1 = 7

4/28/2019. 2:11 PM
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e =

46 )
Graph the equati y=x+1_,xJLetx=-3, -2, -1,0.12,
and 3. /

Find the following y-values. Then choose the correct graph
of the equation to the right.

X ¥y

? /‘7:)(—{} /

3 \_/ 1

Answers -2 7: (_3)7[/‘: "3‘F‘:'—'—L_ w?__:__L
N ye(=t) [~ ~t -+ = :,Z—%
T ) Y I /
3 ‘j::’(u)—{—('ct,}—f‘{': 1 i_;’
" K
N\_

LI T ARG 2-11 PM
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47. NE\
Graph the equation. Letx= -3, -2, —-1,0, 1,2, and 3. i ) ' A

y=3x+6

_1 e
=% Yo, oo,

=

e

Choose the graph on the right that connects the points.

713(—_3),7((9 - —'Cir-fc = —3 X

Answers -3

o g2 YT 6t Tere = O b

: e =
- 2(-1) 6 —
. o+6 =6 —

s

—3

ife

9z ) 76T oy
- :g(“,fc.;’%%(a’_:ﬁ’ £
%

(1 _

111111

4/28/2019. 2:11 PM
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48.
Find seven ordered pairs to the equationy =1-x°. Then  Choose the graph that connects mSipes
determine its graph.

ol
|

=N

* _ 258

s el () 1)) (1 S ET T 2
- - |~ -—?_?-: ""("1)("1)2'_ ‘-—(Cf):/.;_(-:_..g “_F_‘_H
R (1H=l-t= O o
et -0 (= (DEITE O T

e

-7
3
o
|
O
yo = (—o= | L[ -3
=Y

-

—

P

° V)':,l--(O)L-’-"'_/U 3
Ny~ () (= (0= =TT

7|~ (z)’l: - (1)) = [—¢= 3

e

D [—(" (—()3)=1=7=~73

4/28/2019, 2:11 PM
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49,
Use the graph to the right to complete the following. For the ¥

graph, tick marks along the axes represent one unit each.

o
a. Delermine the x-intercepts, if any. (O | \)
o)

b. Determine the y-intercepts, if any. — (b
]

'\-\‘
a. What is/are the x-intercept(s)? Select the correct choice R H‘“ﬂ 2
below and, if necessary, fill in the answer box to complete B :E
your choice. ]
A. The x-intercept(s) is/are ]
(Type an integer or a simplified fraction. o

Use a comma to separate answers as
needed.}

() B. There is no x-intercept.

i, T

b. What is/are the y-intercept(s)? Select the corre
below and, if necessary, fill in the answer box to
your choice,

) A. The y-intercept(s) is/are

(Type an integer or a simplified fraction,
Use a comma to separate answers as
needed.}

() B. There is no y-intercept.

Answers A, The x-intercept(s) is/are ! 3 |

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The y-intercept(s) isfare 1 .

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

1£ aF &N 4/28/2019, 2:11 PM
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%0 Graph the equation. Letx= -3, -2, -1,0,1,2, 0or 3.
y=-7
Find the following y-values. Then chaose the correct graph
of the equation to the right.
X y
-3
-2
—_ 1 -
0
1
2
3
Answers -7
-7
-7
-7
-7
=t
| 51. Find the'Vv & variable that salisfies the equation. Check your solution. Answers that are not integers may be left in

fractional form or decimal form.
6x-7=41

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set s L. 6 )("_7 e 9/ /
() B. The solution set is {x | x is a real number}. 6{%/:‘ 9//7;7

() €. The solution set is @.
Answer: A. The solution set is . )( - f
6 6X = £¥

Y=y

_—’__/4//

1TAbER  — 40282019, 2:11 PM
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52,

Solve the equation. Be sure to check your proposed solution by substituting it for the variable in the original equation.
ox - (3x - 12) =48 7)( —3( +[L - ?X
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
GK (297
O A. The solution set is { } G)( _f/ﬂ/ ___//,i - ({Zﬂ&

() B. The solution set is all real numbers.

() €. There is no solution. '( } (
L -
Answer: A. The solution set is {E

53.

Solve tl;e.linear equation. | " ? X 7{7/ -r: V4 \(—r‘ 31—7
4x+7=2x+31 (7&)( - 2« —t 2%

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to cpmplete your choice.

G ~Lx = IXAHZF -

O A. The solution setis { }. 2 2
() B. The solution set is {x | x is a real number}. ( . ('/
() €. The solution setis @. 2X - 2. Y

A

Answer: A. The solution setis { 12 .

54.

55,

Solve and check the linear equation. 5‘ X — a -+ 1 7 3 X+

oy ‘%X%"f'ﬁ 3* 2xXFlL

What is the solution? Select the correct choice below and, if n;:’t(a:sézryc;f-ll in the answer b%(x’;-ofcc{rrfple—t; yoalfr choice.
x=3X —r 3

25—+ 3—3%

4(x=2)+17=3(x+4)

O A. The solution set is { ) _}

() B. The solution setis {x|xisa real number}. 9)( 3 )( :
() €. The solution setis @.

Answer: A. The solution set is — -

S T R AR D G
U Lk
35(/) —*X(F)- K(z)

—

le

35—

f.nlx

!-_.

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
350 —~ 5K+ ;/x = X+t X
O A. The solution set s { }.

() B. The solution set is {x | x is a real number}. 3 SPO

{7} €. The solution set is &. 2 > 2

Answer: A. The solution set is . C/_7

anm *rn

4/28/2019. T TTPML
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56. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent

equation, Z(f—f/z, :_y)(,_'t/(.__‘?;(
2x+12=4(x+3)-2x 24(__(_/ —_ 2_)< ,_’c ( 7

What is the solution? Select the correct choice below and, if necessary,zﬂ)l}l /nswer box to compljt:t}ezlyur cho

ZX~fF

O A. The equation has a single solution. The solution set is {

@B The solution sets {x|xis a real number). X = Z i

(7) C. The solution setis &.

What type of equation is this?

TR ey ) Q=9 00
() B. m istent eql{ation @ S\_) /w ﬂﬁw §1-'-'_ 14_ / < w rc :«/{ jl.

() €. aconditional equation
N }7"—(. g ;} i

Answers B. The solution set is {x| x is a real number}.

A. an identity

—— —r ===

57. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent

equation. r)(”f /),, — ?"_f 5

5(x+3)=9+5x

What is the solution? Select the correct chaice below and, if necessary, fill in the answer box to complete your choice.

O A. The equation has a single solution. The solution set is {

() B. The solution set i real number}. . —/ =

T T e CX A pE~ = VX
What type of equation is this? f' X - 5_ )( —_— 6
() A, an identity W —_—< )< . y)(___ C — ><

O B. aconditional equation

%an inconsistent equation 3 O & 6
1

Answers C. The solution set is @.

\
C. an inconsistent equation M) 5 ) / “ 7LL\)_)

—__‘____“_q‘_""""""—-_

10 nf &0 4/28/2019, 2:11 PM
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58. Solve the equation. Then determine whether the equation is an identity, a condltlorgal’ equatjon, or an inconsistent (

equation, — X ~ G — - 2 (_//g,-—

Bx+6=3x+6 - ' ¢ = 7><

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The equation has a single solution. The solution set is { }

() B. The solution set is {x | x is a real number}, f—)(___ 3 ;< - 3){»— { ><
(O €. The solution set is @.
2y = 2

2x = 4
O A. an inconsistent equation — 2
(O B. an identity 2’

() €. aconditional equation

What type of equation is this?

Answers A. The equation has a single solution. The solution set is { 0 b.

C. a conditional equation

S — _O__z](_(_z t’)f?’,{—? j._ : _'_"_‘—‘—=——~——:.~__.___________

59. Solve the equation.
O N(~+7-1 = O 5Ly -2
0.7x+0.2(10)=0.5(x + 10) O 7 - O S')( —+ 3
Select the correct choice below and fill in any answer boxes present in your choice.
07X — 95X 0. 75 1 —Us5X

O A. The solution set is {_ B } {Type an mteger ora 5|mp||f' ied fractlon )

(O B. The solution setis {x| x is a real number}.

{0 €. The solution set is @. g =z __3..— X / >

Answer: A, The solution set is ﬂI:} {Type an integer or a simplified fraction.)

)
680. Write the expression in the standard forma +b . ( 5’_ - 2 /{)-—f ( 27,.{ ~ /(. )_:
(5-2i)+(8+51) . -
S 2 TA =
(5-2i)+(B+5i)= (Simplify your answer.) —f— J —f___
/2 +3L

e

81. Write the expression in the standard form a+b /. ( 2+ La ) (7 YA ) -

(2+2i)-(7-41i) X’f 2_,: __7 +>¢/( —=
(2+2i)=-(7—-4i)= (Simplify your answer.) n

Answer; 13+ 31

Answer. =5+6i

N AP EN 47282019 2:11 PM
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62. Find the following product and write the resdlt in 3 ydard form, a+b . ﬂ" é +7/t‘ q’f/t i

u\ TSY L 163l +7a%
—S¢ + $7 A w74
~5¢ S TV (=
~s ¢t §24—7cC 6] TS24

" B3. Divide the following complex numbersmpress the result in standard form, a + b i, where a and b are fractions in
lowest terms. J

X g SY A A 1A 30
(9+3: — | =

(-6+7i}9+1i)

(-6+76i)9+i)=

Answer: - 61+57

— k- 36 "6/.{/1‘)6,/; -
9+-3i__|_—_—‘_-:_ 59 7"?/&.:‘3/{
6+i ——————— 36 — L4

Answer: 57 9 ___S‘C( -+ ﬁ/\' “% ("L)

mm TS

37 37 34,—(.—'):

e ——

64. Use factoring to solve the quadratic equation. Check by substitution or by using a graphing utility and identifying

x-intercepts. )( C X _ (/ Z — =

x? ~x=42=0 @T@ L__) g O
The solution SElIS{‘Z} &," %’,,z}(‘, = O ()@ )(,__’7 "D

(Use a comma to separate answers as needed. Type repeated roots onl

XA —CZ O—6
Answer. -86,7 X — 6 ; 0

65. Solve the equation by factoring. )( (:- 4 ( ~+ 3y
Illl
X2 =2x+35 L__ IxX—5% y e, \

The solution set ISS ()( —+ @ % 7 ~ “x

{Use a comma to separate answers as needed ) i oy
ty=o Oa X=/ZO0\

Answer: 7,-5 X’f)”’g o5 O/L X_ﬂ.f?&()7/.?

- B —==

66. Solve the equation by factoring./’:) / 5 W —7 )( LX-—f [) =
16x% +2x-3=0 A K 5)("'3 =0 ol Xr) Zo
The soluonsetis { . Z)(..S ~+7 zJd73 Oﬁ l X~ I — =J "'"/
(Use a comma to separate answers as needed.) 5 )( ? O /L Z A/ — /

8 2

Answer: 3 1 37)(: }_. X —_ =

11 af A0 4/28/2019, 2:11 PM
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67. Use factoring to solve the quadratic equation. Check by substitution or by using a graphing utility and identifying

x-intercepts.
o X 1 Lx=>
6x° +12x=0

The solution set is E 6)( ()( '_f & ) -
(Use a comma to separate answers as needed.) 6 X - O O /d~ X =2

Answer: 0,-2 r OL X ——2 i
68. Solve the equation/by\?_c&:ring. }((..._3 (/ /( G X T —C e 2 | G( K-W;

34-34x=(Bx+2)(x-1) ~1 g((’__zg( X 4 G)( '—(f)( —_1_ I|@ X#_/ b
The solutionsetis { ). O = Gy~ G o 2’_._..3 .r__{_ggfx/ X—I@/

{Use a comma to separate answers as needed.)

OF éKL—rZL»( 36 x—+<,——o
0 6(xHFsAx-6)

Answer: 1,-6

What is the solution set? ,\/,, _ 6 o JL )(,’((

{—:_} (Use a comma to separate answers as needed }
K—¢-+9Y< 07

Answer. -4, 12 @ J X . /2-

e —

e ety (L) 1 (B

X% +86x=7 )(fcay—,a(g)

What is the solution set?

A @;/ﬁg

71. Solve the following equation using the quadratic formula. )(: - ..7'),.,_ 4 ) > 0 ’i

X2 +9x+18=0 -, ZCi)
A=) L=9 =/ . —9 &
The solution set is :}
(Type an exact answer, using radicals as needed. Use a comma to separate agmrs as needed.

Answer: -6,-3 X = j_-——_,(/ 7
- 7 ey :| X/ "‘C? + } o
= 32 av’k X'P

S 373873079, 2.11 PM
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e
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i 2 (27
X < %ikfcf+/co T
%

Y < 2 (/769
/——Q—/







7S,
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3X I xX—]1.~ O

z
(A = N ry) =0

3 (K =2 <—2) ==

Ak o =&
B)Z{ g K=o 04 XTES
O/é AL =TT




/6 ext— () =02
/6 (@) —(n)=o
o ix—1)f =)=

g o pei=e
N Lf—(~ | = OF/

X—( T

2xX—~+ | — O

2x =~ |










2 =© on KL=
oL 04 )(_f;,i{.;f/;u—g/

= o (=2




& Ziire = A

4
(Vizr) = (d
Ly 171 é(’@?(’(”’)
Lot )= Nt XX

Lx—t)q T X XA
O: {1_74/())(46‘7’ — X~ 9

< YU I 5
O @ +S’)Q<_‘f’c7)

avb‘”“

—_

— S

Xfs=o O S

OK  Nr3=1=H







—rX €L

A bj o Wesstoy

X > 1L
—({‘ /_(_( av( ’,L‘,\w'-m Q//ljﬁﬂ[’-/f"r
A G d

B = N
.@ 2(7—-sv<) < 29 —sX B
/¢ —[oX < 2q—5sxX --
M_/Qx%é 29—SX~
~ox < —SX+ [/

- X < /v

2)< > __{_(* C‘Hﬂw&( é‘) A
= = 7:,(;“!”‘,( f‘«/
> Tl
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86. Evaluate the function f(x) = 9x + 2-atthe given values of the independent variable and simplify.

a. f(fy b, f(x+3) ¢ (=%

a. f(7) ={ {Simplify your answer.)
b. fix+3)= : {Simplify your answer.)
c. f(-x) =[ ‘ (Simplify your answer.)

Answers 65

9x +29

-9x+2 /) 7/%L

/(7)’ ‘7/7)+L
f(7)= €3¢

N N
/[()éf@) = 9(x+3%) + T
/()(.,45)? TX+ 27T

C( )(,f’}) < 9X+ 29 }
/

7/( ) < G

—

4/28/2019. 2:11 PM
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87.
Graph the given functions, f and g, in the same rectangular

coordinate system. Then describe how the graph of g is
related to the graph of f.

f(x)= x
gix}= x-5

Use the graphing tool to graph the functions.

How is the graph of f shifted to get the graph of g?

The graph of g is the graph of f shifted (1).
by I units.

(1) O down
) up

Answers

(1) down
5

bucdldd  Jiags

hutps://xlitemprod.pearsoncmg.com/api/v 1/print/math
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88. Use the graph to determine y
4
{a) open intervals on which the 2
function is increasing, if any. x
(b} open intervals on which the T Eb5ma214 1234567
function is decreasing, if any. -
{c) open intervals on which the

function is constant, if any. -

(Wﬂhe correct choice below and, if necessary, fill in the answer box to complete your choice.

7 A. The function is increasing on the interval(s)

(Type your answer in interval notation, Use a comma to separate answers as needed.)
() B. The function is never increasing.

(b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

"LA/;'he function is decreasing on the interval(s)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

) B. The function is never decreasing.

{c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The function is constant on the interval(s) -
(Type your answer in interval notation. Use a comma {o separate answers as needed.}

‘5’(‘; The function is never constant.

Answers A. The function is increasing on the interval(s) |{ = o0, = 4),{=3, =2}
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s} [{ =4, ~3),(— 2, co}l.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never constant.

/9 (V{q)/;.j (-—-oj —) SV (7,7 )

&mq,@) Fo,-5) YD

0 nf A0 4/28/2019. 2:11 PM
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89.
The graph and equation of the function f are given. f(x) = 2x3 = 3%% - 36x + 5

a. Use the graph to find any values at which f has a relative

maximum, and use the equation to calculate the relative £
maximum for each value,

b. Use the graph to find any values at which f has a relative ) /\ o
minimum, and use the equation to calculate the relative -zt b 1
minimum for each value. / 3

[-5,5,1] by [~ 100,100,10]

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

() A. The function f has (a) relative maxima{maximum) at and the relative

maxima(maximum) are(is}
{Use a comma to separate answers as needed )

{_) B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice,

) A. The function f has (a) relative minima(minimum) at and the relative

minima(minimum) are(is)
{(Use a comma to separate answers as needed )

() B. The function f has no relative minima.

Answers A,
The function f has (a) relative maxima{maximum) at 5 -2 i and the relative maxima{maximum)

are(is) 49 !

{Use a comma to separate answers as needed.)

A,
The function f has (a) relative minima{minimum) at | 3 ] and the relative minima(minimum) are{is)

<76 |

{Use a comma to separate answers as needed.)

Velho P x ) ot (_-z/ 1)

_,—'—'_'_._'-H-.—H-H-F

W%
(Y, = z,xz————;zx Mg —— 26K 5 -

e

4/28/2019, 2:11 PM
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90. The domain of the piecewise function is ( = c0,c0). x+1 if x< -3
a. Graph the function. f(x) .
b. Use your graph to determine the function's range. x=1if x2-3

a. Choose the correct graph below.
) A. i B.

% Ce / Cw (gJ v
b. The range of f(x) is | . {Type your answer ln interval not on )

2 M, = X = (X<T3)
‘71,‘-)("""”' (X> )

Answers

) "y = —/2_
Xmex = 7T ~
4)41!;.\ =/
e X =[O

—_— e ———

a1 _ . : f(x + h) - f(x} . .
Find the difference quotient of f, that is, find —h h# 0, for the following function.
-

f(x)= -6x+3 (Ef(a(]{;{ﬂn) +3/ “\L"'Q\’-—{;}_)
7
f(“h) 0 =[] (simplify your answer.) b/?( —Gh ’f”l[f' Céj/z

p 7
Answer: — 6 - G P
/E-' . @
e e
%2 _ , , . f(x + h) - f(x) . . I
Find the difference quotient of f; that is, find — h #0, for the following function. Be sure to simplify.
z L
fx)=x? - 5x+3 /Q(j’\) ~ §Uth)+3) X =5Hr) _
10+ h) = f(x) h) (x) “

=[ 1 (simplify your answer.) L
(;\/r-fé\)()("f‘l) §o(—5h +3 A 5X—7F -

Answer: 2x+h—§
B )(—f‘ Xh—r fh4 4 C. ;;—5_4_%7&44_ e
h

2Xb—+ o~
ot 4t o o
—5h _.
B B Taxthes Y
L o N s

-‘-—._____'__________-_--_-P'
32 af 60 4/28/2019.2:11 P
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93, Find the slope of the line passing through the points given below or state that the slope is )undeﬁned. Then indicate
whether the line through the points rises, falls, is horizontal, or is vertical. ( ]
(3 = 7,6/

~4
(3,2) and (4.6) M= (% X\ Y . i

Yy—«
] -
Select the correct choice below and, if necessary, fill in the answer box wittjn your choi

}”7 = CL!"(C’
ZC/’sG)fCV)

Indicate whether the line through the points rises, falls, is horizontal, or is vertical. Choose the correct answer below.

) A. The slope is
(C) B. The slope is undefined.

) A. The line falls from left to right.
(O B. The line is horizontal,

O €. The line rises from left to right.
(O D. The line is vertical.

Answers A, The slope is 4 ]

C. The line rises from left to right.

e =

— — _—

94. Use the given conditions to write an equation for the line in point-slope form and slope-intercept form.
Slope = -6, passing through (- 8, - 3) ﬂ? e {/,J - - 6 (_X/ ""5,)

Type the point-slope form of the line. A/l V' |

E—— e e

{Simplify your answer. Use integers or fractions for any numbers in the equa

Type the slope-intercept form of the line. ‘j — (-“}) = —6 ()( - (‘_F))
[ ]

{Simplify your answer. Use integers or fractions for any numbers in the equation.} ——

Answers y+3= - 6(x+8) w( >< —t 7 L

y=-6x-51

o o gt = —Gf Pubyd
%,f [ —6x —% 7
Jayos = AT 2

—

Y= —6 X — 5

33 of 60 4/2812019, 2:11 PM
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95, Use the given conditions to write an equation for the line in point-slope form and slope-intercept form.
Passing through (- 3,7} and (2, - 3)

What is the equation of the line in point-slope form?

L]

(Simplify your answer. Use integers or fractions for any numbers in the equation.)

What is the equation of the line in slope-intercept form?

(Simplify your answer. Use integers or fractions for any numbers in the equation.)

Answers y-7=—2(x+3)

y=-2x+1

~3-2

—_—

34 0f 60 4/28:2019, 2:11 PM
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96,
Graph the following equation in a rectangular coordinate A
system. 10+
x=1 8:
6
Use the graphing tool to graph the line. 4 ]
24

)
—_
'5..
&
&
_L-
o
-4
..
o
—o‘_

Y

"
]
"
10
Answer: A A,j_,
104
: o

-1

1 nfAD 4/28/2019. 2:11 PM
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97.
Graph the linear equation. . j“’
1

y=8

Use the graphing tool to graph the linear equation.

Y

\
L
S]

[}
53
&
kN

3
N

[ 82
]
N
oo -4
-
B

24

5

Answer:

14 nf & 4/28/2019. 2:11 PM
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98. _ e 38
a.Rewrite the given equation jn slope-intercept form. ) Jw
b.Use the slope and y-interceg"lvgfaph-the linear function. it 4
6x-2y-2=0 5
B
a. What is the equation of the line in slope-intercept form? 4'
L 2]
{Do not factor.) 1 %
| L T LN T T T ¥ T 1 g
b. Use the slope and the y-intercept to graph the line, -0 B -6 4 -2 2 4 &5 B W
-
..E...
-
-84

Answers y=3x-1

EP— e
_____._,__,_._.—-—-—"_' e
27 af AR - ——

4/28/2019, Z: 1T PM
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99, .
Use the graph of y = f(x) to graph the function Choose the correct graph of g below.

gix)=f(x+4)—1.

y = fi{x)

)
8

100. Find the domain of the function. ﬁ e Ma.zé\ J; NG
[ : B

f(x)=42-2x
fou) = (JAxeE

What is the domain of f?

‘ {Type your answer in interval notation.)

Answer: (- 00,1]
Ll = S
A &;(f-/i Z 0—C

T I - A 4/28/2019, 2:11 PM
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101,

390f60°

f
Firstfind f+g,f-g, fgand —. Then determlne the domain for each function.

9
f(x) = 2%% ~ Bx - 42, g(x) = x~ 7 ('{-j/t’( é‘}’f ﬁﬁ(]
S (2x3 —v2) + (X=7)

(f+g)(x)= (Simplify your answer.) —

- 1 _ 5
A = IR N LAA—~D Py n)

What is the domain of f + g? ,__: = T __- -_-““————__
O (-oc0,00) % ad ?1/) C’-ch ﬂ”)
O (-00,- I ~7,00) (/ 5){}( /)(/ jrg/

O [0.x)
0 (-1 < (st-r=42) = (k)

(f- g)(x) =I I(Simplify your answer.) = Z,)f - 6 X — (_( .2— _____)( ’7‘7

What is the domain of f- g7 —_— e — e
S E2ax--9 4
21 21
[~ o[- 5 U[ )(x A5 5]

O {~co,00)

e
O (-T.) = (ZX/** XXA/ZJ?}}) P
w=l____ | = AX /‘fo FX =t 6K - Yox+427

What is the domain of fg?

G 2x 22X F]4x +29¢

O (=00,7)U(7,00)
@ a5
-5
O 35 35 (
= S)o[-5e)
O

f . .
E] (x)= : {Simplify your answer.)

f
What is the domain of 5?

(7,00)

(= 00,7)U(7,0)
(= 00,0)
[0.0)

ONORONS’

-

4/28/2019, 2:11 PM
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107.
Complete the square and write the equatioh of the tircle § er
standard form. Then determine-the center and radius of 10
the circle to graph the equation. ]
s | Co mydel 41y s
. x? +y? +10x+6y+18=0 SQwaal 6
Y+t rrox+ 67= ~/ 3
The equation in standard form is | ] 3
(Simplify your answer.) 21
r X
Use the graphlngztfol to graph the cucle/ Jo B 6 m ST TTITITETS 1‘0":
(o dox 7569 4 N
-4
-6+
-8

(8
Y FloX+ (4t =+ Y 746) + (4 (63)2— /3 -'( L g
X 7‘/01"‘69)&"’ 7 —f67 + 3= —% '—r‘_f(s—) _(,a(;j: £0Oh

Answers (x+5) +(y+3) =16

)(’7‘/0)(’1"23""1‘ ‘72—7‘!67 -+ 97 '"_""/5 -+ 25—+ 9
] T Oxrs)(trs)—+¢ (7,4)(%3) e

*‘ Kes) F (9+3) = /6
CC/\/ oo (~5“ —"S)\\

£/ THY B 0 :.@:/::_ /c’yj

108. In the following exercise, find the coordinates of the vertex for the parabola defined by the given quadratic function,

//} 3(nS—6(1)r13)
C <o

Thevertex,ﬁ;: Type an orderqtlpalr) ([ 3('X/) —6(’) ‘7‘/’)
velee £ ( j} (1, 30) =601 77

‘/(fﬂ/wer (. 7)/ f% ( | ——-C 7‘/0)

,2_{5)—
Velnz (£ , 7)) V3
V< x"*/l) /(i)) () DL’A o

47 nf &N 4787019 711 PM

f(x) 3x -6x+ 10
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109. Find the coordinates of the vertex for the parabola defined by(lhe %iven quadratic functl

f(X) - - x2 LGX+ 2 V(/fo ; 2) / (/1)/ ".""' \\
A - Ve ( (5
Th‘-‘ verte Type an ordered pair.)
VUL{ - f C‘zx)j [/*/Z/ / "'"('-3) = 6(-3)*\&{

Answer( 311)
vely - (g%% £9)) V= (53, ) e

AL 2
110. i
Use the vertex and intercepts to sketch the graph of the : jn-,,
quadratic function. Give the equalion of the parabola’s axis 10
of symmetry. Use the graph to determine the domain and -
range of the function. .
2 =
fx)=(x+2)" -9 .
4+
Use the graphing tool to graph the function. Use the vertex 24

and one of the intercepts when drawing the graph.

The axis of symmetry is L R P T DA R I T SR R T
(Type an equation, Simplify your answer.) -2
The domain of the function is "
{Type your answer in interval notation.} ]
The range of the function is 1 . a
{Type your answer in interval notation.} ]
1 B
U 34 jVCVLO cle-lh -.
A C
TGO T~
, ]
Answers s )
9
-5
4ye

A1 ~FER 4%M019 711 PM
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1.
Use the vertex and intercepts to sketch the graph of the Ay
quadratic function. Give the equation for the parabola’s axis 12
of symmetry. Use the parabola to identify the function's 1 0:
domain and range. i
100 =(x~2)7 +5 g
6
Use the graphing tool to graph the equation. Use the vertex 4_'
and the y-intercept when drawing the graph. )
2=
Theaxisofsymmetryis[ I —————— “ i RS s m .x>
(Simplify your answer. Type an equation.) 10 8 6 4 -2 R 2 4 6 8 10
identify the function's domain. .4_
The domain is [ 6:
{Type the answer in interval notation.) .

Identify the function's range. A Sy j y )J/ o / G C‘__{,
The range is

(Type the answer in interval notatlon) < \-j = ( )( f-Z,) 15 B ’{—’é /
O =
S

Answers

,_Lri

2
4
]
&l

x=2

(- 00,00)

(5,00)

Ad ~FEA ARG 711 PM
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112.
Use the vertex and intercepts to sketch the graph of the Djw
quadratic function. Give the equation of the parabola’s axis L
of symmetry. Use the graph to determine the function's e:
domain and range. ]
fix) = x* +6x+8 61
4

Use the graphing tool to graph the equation. Use the vertex
and one of the intercepts when drawing the graph. 24

I ey T T T T
The axis of symmetry isl . 40 B B 4 -2 2._

{Type an equation.)

The domain of fis ‘ | -4—

{Type your answer in interval notation.) -6

The range of fis ! -8

(Type your answer in interval notation.)

v

[
-
o
m_.
&

MS( ?/(PFL'H) Cc fCu(u"o/ "—:‘—0—-_______‘_‘
Answers g{?:’-x 1:7‘6/'—%7\7( 74(/
v )
Yo xtrxry 112
—~3 1\
710
; f AN
x=-3 \‘-
(- 00,00) \
(- 1.00) \

45 of 60 4/28/2019. 2:11 PM
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113.

AR AF AN

Use the vertex and intercepts to sketch the graph of the
quadratic function. Give the equation of the parabola's axis
of symmetry. Use the graph to determine the domain and
range of the function.

fx)=2x-x* +8

Use the graphing tool to graph the equation. Use the
vertex and one of the intercepts to draw the graph.

The axis of symmetry is f

(Type an equation.)

The domain of the function isl f

{Type your answer in interval notation.)

The range of the function is [ |

{Type your answer in interval notation.)
\4 }(‘ ?fa'JI;D (‘- C-\\'\J'J‘
(\ §)

Answers ¥

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

4/28/2019. 2:11 PM
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114. Divide using: synthetlc dIVISlOI'l —
nth, e 'ﬂ Y > 5y 2 2 7

(2% - 3x+7) +(x-5) ;O

(2x2_3x+7)+(x—5)=‘__——]+_—T s 7 @ffm

(Simplify your answers. Do not factor. Use integers or fractions for any numbers.

Answers 2x+7

42

S——— S

115. Divideusinlg;jirm_ttlgt_iﬁg_@iqn?f ()\op% —~3 ’ (7/ 3 ._(3

(45 +3x-13) +(x+3)

(@+ax-13) vr3y=[ e (7‘ —*‘1 / Y

{Simplify your answers, Do not factor.)

Answers 4x -9 éz M ,_Z_-L—{-—- -
: 1 s )

116. Divide using synthetic division.™
_ . .
. BT B S B SR
(2x + X -2x+5) +(x—4) 6 3@ lj G

(23 +x% -2 +5) +(x-4) = +_><—-—_T T c7 BY /ﬂ'

(Simplify your answers. Do not factor. Use integers or fractions for any numbers i

Answers 2,2 4 gx + 34

141 ,{/ — e
_'_"'_‘—-—'———____________,..--"‘r/
i3 : e : —-
7. sSolve the ~=..-qua|tio|1x3 - 13x% +47x- 35 =0 given tl@s/a zero of f(x) = x> = 13x° +47x - 35.

The solution set is ﬂ—_—__} (Use a comma to separate answers as needed.)

Answer: 1,7,5

Xt 135 = 0

# - -
(= ﬁ@ 7) ’ /
)/f-—>Q O X "7/ ) ) 5, /
A~ _,u'f-r— O/L X-7 7 =97 ) G s -,
47 af G0 % TIETI019. 2:11 PM
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118. The following function is given.

f(x) = 5x° — 7x? - 45x + 63

a, List all rational zeros that are possible according to the Rational Zero Theorem. Choose the correct answer below.

( 1 3 9 7 21 63 - C S,F
°"/A +1,£3,29,+£7, 21, 1631—1—:—:—:

- 575757 5° ? e — =
O B. 11,15,1%,12, ;,i%,i;j::. ! 1551- 1613 tiss_s (:VSOL
oG *1*5*%*2' 1*%’*%*3' : i:%"eja *355 jﬁ_ =
O D i1.t3.16,t7,:|:21,i:63,:tl 13 2 11 121 tﬂ ;

5’ 5*5'*5 5%

b. Use synthetic division to test several possible rational zeros in order to identify one actual zero.

One rational zero of the given function is . M ’f::l__ -4 —E:*____‘_'_

{Simplify your answer.) < ) I

¢. Use the zero from part (b} to find all the zeros of the polynomial function.

The zeros of the function f(x) = 5x° —~ 7% - 45x +63 are | |-
(Simplify your answer. Type an integer or a fraction. Use a comma fo separate answers as needed.)

Ansivers 1 3 9 7 21 ﬁ uSS:éL(
A.:t1,i3,:t9,17‘121,163,ig.t§.t§.ig.t—
_.—._'_'-'_'-.-'-'-F

USe Synledic divise

S‘)(LFZLH&(ZO -3 5 %

— D(x— 3) = L
f€f7 ::Z)L AN >(—'3 2 G n Skl

75010 QR X232 977
SX=7, J

—_—

4/28/2019, 2:11 PM
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119. The following equation is given, L(: 5 /

3 2 -
[x* -2 -9x+18=0 ‘//}’/_

a. List all rational roots that are possible according to the Rational Zero Theorem.

— t/4

{Use a comma to separate answers as needed.) (

b. Use synthetic division to test several possible rational roots in order to identify one actual root.

/1,15 L6, ’L'? Téxy

One rational root of the given equation is : ; /_,/,4,;—
{Simplify your answer.) (
c. Use the root from part (b.) and sclve the equation.

The solution set of x = 2x -9x+18=0is

(Simplify your answer. Type an exact answer, using radicals as needed Usei
expression. Use a comma to separate answers as needed.)

r-fcachons-fm..auy,n,t_i_rg_bers in the

Answers 1,-1,3,-3,18,-18,2,-26,-6,9,-9

2 S

23,-3

o WU By,
3 | | —L —9 /i

~3 /s —/
J = G @ [
>( X6 = O
JXK——-ﬁ) O
mx - X=3 50
XK=+ = wz, O/L X373 07 3
' o~ X =3

X

Ll R

— _h-__*____-""‘—-u.,__

AR A £ 4/28/2019, 2:[1 PM
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120. an incomplete graph of the polynomial function f(x) = - x + 2x2 +5x-6is
shown on the right.

a. Find all zeros of the function.
b. Without using a graphing utility, draw a complete graph of the function.

H I I "--._.‘ _.—-:
[5. 0, 11 by I-15, 50, 5]

a. The zeros are I

(Use a comma to separate answers as needed.) —

b. Choose the correct graph of the function below. The scale for each grap ts[ 10,10, 1] by [-

- 45, 80, 5
) A . -~ C. O D. @

¢ )

e —
121. Fillin the blank so that the resulting statement is true.

. 4x® -5x+4
Based on the synthetic division shown below, the equation of the slant asymptgte of f(x) = =7 is :

7 4 =5 4
28 161
4 23 165

4x% - 5x+4
Based on the synthetic division shown, the equation of the slant asymptote of f(x) = v is I )

(Type an equation.) .
7y ¥ T
Answer: y=4x+23 e 2 3 Igl

&0 nf A0 —_— 4/28/2019, 2:11 PM
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122. Find the vertical asymptotes, if any, and the values of x corresponding to holes, if any, of the graph of the rational

function, .A.&J‘"‘ )(—'_7 = S

=37 X747 =717

Select the correct choice below and, if necessary, fill in the answ

lete your choice: (Type an equation. Use_\
commas to separate answers as needed.)

et c.

O A, The vertical asymptote(s) is(are} . There are no holes. i 6‘- $j ~ /7

O B. The vertical asymptote(s) is(are) and hole(s) corresponding to "

(O €. There are no vertical asymptotes but there is(are) hole(s} corresponding to

() D. There are no discontinuities.

Answer: A. The vertical asymptote(s) is{are) [ x=7 . There are no holes.

123. Find the vertical asymptotes, if any, and the values of x corres onding to holes, if any, of the graph of the rational

function. » ‘4.&/4_ { 7)<_({ 7 =
S Do) =

Select the correct choice helow and, if necessary, fill in the answer bax(es) to complete your choice. (Type an integer ora
fraction. Use a comma to separate answers as needed.) )( 3 — D —<F =

O A. Hole(s) atx= )('—5—(-") - O——F23 OK / — (G "‘U-,cy

O B. Vertical asymptote(s) at x=
O C. vertical asymptote(s) at x=

() D. There are no discontinuities.

Answer: B, Vertical asymptote(s) at x =| 3 -éhd hole(s) at x = 4 ]

L il I _...______};F i
i L
124, Find the horizontal asymptote if any, of the g ph of the rational y.mctlon /1
§ A S 21 =
()= """] Y S 4.4
2%2 +9 )("“7/30 Z)('L X 2> X0 )(L —/—}.?_L
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. Y
O A. The horizontal asymptote is . (Type an equation.) / { — X z
{0 B. There is no horizontal asymptote. X 20 2\ '7" i
XL
Answer: A. The horizontal asymptote is y=0 l {Type an equation.) O
L JS-- | [,
- - 2T
o
Yoot l 457 z -

A1 afAn B o T =2 RS010 211 PM
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2.0
125. Find the horizontal asymptote, if any, of the graph %f the ratﬂal function. // b-. Fa!
. ox ~
20x° /i —_—) X—no £01 § -
s svq) A s
X X—> 0 XU xL XL
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 2
. )
- i . . // I g~ =
1 A. The horizontal asymptote is . {Type an equation.} )( > S - 2
- — /:>O i
") B. There is no horizontal asymptote. ] X
Z Q. 2O
e ———— —— —
Answer: A. The horizontal asymptote is y=4 . (Type an equation. SO -r
126. Graph the given function by making a table of coordi es.
- })( \
x ] © - X
fx)=3 )
Complete the table of coordinates. — 179
—Tt
X -2 -1 0 1 2 — ‘/3
. Tz
y _—F
9 !
"
’3

(Type integers or fractions, Simplify your answers,)

Choose the correct graph below.

CLA.

Answers 1 //( —~7 ) -

4/28/2019. 2:11 PM
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127. X )( /
-
) 747

) = -
Give the equation of the exponential "(” i ) - f
function whose graph is shown, ' i ol 2 ' e

' _ \

) ) = 2, I / 2

Identify the correct function. e——

Answer. a fx)=2"%

——

128. Find the domain of the logarithmic function. 7 —x O /((J e ] 4\}{\ o
f(x) = log (7 - x) "] 7 Uu— 7 _ é()V"\ 0
The domain of f(x) = log (7 - x) is . —X 7; 7 7[ 1=lo S @-)(—fﬁ,‘ /
{Type your answer in interval notation.) —X 4 -
= AXA i>‘/

Answer: { - c0,7)
” C X< 7 (& 7) X

129. Use properties of logarithms to expand the logarithmic expression as rpuch ? possuble Evaluate logarithmic™
expressions without using a calculator if possible. :

[] 5 [y 7) o ("510 (%5) .

|osb[xz:]' — (ojé(X )—f' (ajl/?)//(a_@

——

Answer: 3logx + log by Blog,z

’4?’7”& L@j (XT——]—- Zaj (j)-—'— 37(05 (f?(_?j

/(” ()" 5, (D —los (B) e
505 10(/«1"5) Cosy,(A)— Cos, | /5)
\éo5 (/Ai ): /f//ﬂﬁg,//T’)

afAn — 1 —_— e 4/2812019. 2:11 PM
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130. Use properties of logarithms to expand the logarith cexpressnon as much as possible. Evaluate logarithmic ),-
expressions without using a calculator if possible,
X Wxbe) — X 7‘5) =
212
S X+ /ﬁ, Vxbe — K
In[ o } Jé()(/ X e (X—fc,)

..1["2 ] /Zf)(/-f_,ﬁ. X7 Ii———-/ﬂ/)(vfé)
2hod+ £ (7)) — B A Ctre) =

= et aﬁm AL )ZZ@H,A b/~ S D

(x+6)°

131. Solve the following exponential equation by expressing each side as a pgwer of the same base and then equatmg
exponents 27 4 z -3 s B s R =Y

- - 3 .=
27%* 12 p43* "3 14 Aty K T SH— 53 =2 Ty

3
The solution set is {:} 3 3 3)( s / f
3x~+ 3( £ - Bsy = 501 {57

- Answer: 9 8 :\2 __2)( — "'/X

M S . o

____,_—'—'_"

132, Solve the following exponential equation by taking the natural logarithm on both sides. Expmﬁe solution in terms of
natural fogarithms, Then, use a calculator to obtain a decimal approximation for the solution,

2¢¥ =452

What is the solution in terms of natural logarithms?

The solution setis { }

(Use a comma to separate answers as needed. Simplify your answer, Use integers or fractions for any numbers in the
expression.)

What is the decimal approximation for the solution?

The solution set is
(Use a comma to separate answers as needed Round to two decimal places as needed.)

X
Answers In 5226 #:_2_2_-6__ 7z "'?:{::Z )_? %_)(_: /Z( iZ(/

_'f__ . £ . _.ag_)___

(e ¢ /Z(ZZU /
ﬂ/ﬁ(ff/ A (226)

& (ZZ(/
9((/)/4/220

b RN I

Lo

£ ~F AN 4RI0NG 207 PRT™
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133. Solve the exponential equation. Express the solution in terms of natural logarithms. Then use a calculator to obtain a

decimal approximation for the solution. g
ol 6 )= K sy

(x+3) _
Whet h 4|39l f natural | (‘7&3/“1’/6) Jé\j(sp}sﬂ)
at is the solution in terms of natural logarit —fj/ﬁf /&ﬁ}_f_/__

The solution set i |s "‘"' Z /é\ (6 Vi
(Use a comma to separate answers as needed Simplify y an er. Use mtegers or fractions for any numbers in the
expression.) -

What is the decimal approximation for the solution?

The solutionsetis {_____ ). )(——(—%"?/C— 3. 3 7 5’523 77 —3

{Use a comma to separate answers as needed. Round to two decimal places as n

Answers In 439
In 6

0.40

134. Solve the following logarithmic equation. Be sure to reject any value of x that is not in the domain of the original

logarithmic expression. Give the exact answer. é 0) a )(_( A ) = G
==

log ,(x+23)=6 2 et
G

Select the correct choice below and, if necessary, fill in the answer box to compiete your choice. 2 - )( + 23

) A The solution set is { }. (Type an integer or a simplified fraction.) 2022820 =X~+(3
() B. There is no solution. 6 \/ G )(,f 3

6H—23 < Xvp¢~23
Answer: A. The solution set is _ {Type an integer or a simplified fractip

— -— (—Cﬂ'—

135. Solve the logarithmic equation. Be sure to reject any value of x that is not u)the domain of the original loganthmic

exprlessuons ('l‘:we an:::act:ns:vef S Lu, (7( f 'Ll(——f ) , alﬂ}M/
0g ;X + l0 x=1)=
9 13%+ l0g 13 /3l X Clic—c)

Select the correct choice below and, if necessary, fill in the answer bex to complete your choice.

/3= [Ext —x

(O A. The solution set is { } (Type an exact answer in simplified form.}
(O B. There is no solution. O = IZ{L —X — /3
o e S
Answer: A. The solution set is . {Type an exact answer in simplified form.) o
1y —1> Zo 0L X¥[=Z O

/0/5{-/ )—‘fﬂér /ﬁ%’)‘“})ﬁ‘/‘u-— 133O T T
CJ/&/;U’/C@; (l?»— Nz /2/7—)(~—/J at

41782010 711 PMt



@@j (t58) -t Cos, (X720 = & ,4//14%
5

~ D)4ty ()=
a) = 3§ Y ‘ﬁ{
Loy, [ X+ s@ if}; 1z (/,;

G5 = (oD (X~+1>)
Lo foX—+ S

¢ § X~+57°
- —peY

yA Y

ro2g =X

(DU - X"
L 67 x TS

ol 67 —7rY

O =




o X175
5S, s 2.
< L X474
X—5
Ls < X+ /9
X~
2 X1/9
/ X—s

25 x=x)= [ (x7/V)

25x — |25 = [ X4
25xX f-/z/f¥//f/lrif><*f/'3—f/’li’_
2cx = | < + /7Y o

Lox —/ x < | L7 /=K
24 f = /7 -
S /%

[«ﬂ?)f ()(7‘/7)———- deg’ ()/ff): 2
Cu)s, ([ 6+15) — Cujr[6~r) = -

Cog (257 ——-6055/(’) = X




lo

5(x) C")/)(~f}) - éoj(f?/
Los (KN K+3) = Cog /5%)

X(X+3)= S
Nr i =5Y
(17 ix—sv = O
ORI EL

W =0 oL XKTT=©
(~6r6=076 OK P R

C@(f?—f 2% ()(—fz)'i—-é")/rc/)
Co /6)’!“(»5 /6——(—3) 353’(“’%

o (6)-Cus (1B) =Y 5
UG

4‘5(*ﬁ’)'f‘“5/‘7*3):§??9)
CO)(’“G)’!"CU)/“K): (o &7,
54 D P4

—

C;
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139, The formula A =21.2 ¢ %%4% models the population of a US state, A, in millions, t years after 2000.

a. What was the population of the state in 20007 /ﬁ, /e $u5CC D) 0 PG & ,&,.(/
b. When will the population of the state reach 29.8 miIIion'-" ( / 4u $G6) = 0.0 ¥o9 € ( (/

a. In 2000, the population of the state was mﬁun ( / v o “C c) — (0. Y U‘):(_
b. The population of the state will reach 29.8 million in the year e, ; , ‘I‘—O Y 66 ) - 0O 0¥ ?(_
(Round down to the nearestyear) 94,7 < 2/.7 € ’Oﬁ’ﬁ o, Y7

Zr,vl_.- 2/ L_ E=
A 21.2 . L0095 ¢ .S 35
newers /. vostc - @ 3’7_ _ﬁ/

2008 - O, OF UT

_ Alryesmey b€ )y 3“‘“*@;?:

S
140. Complete the table for a savings account subject to 2 compoundlngs yearly.

[A=P[1+%]m] [ FOG = fGovo (/7‘ 3—2@—) & [FIov = /b wﬁ-f 0311

Amounted Number of Annual Interest Accumulated lTime t
Invested Compounding Periods Rate Amount in Years
$10,000 2 6.25% $18,000 7
Let A represent the accumulated amount, P the amount invested, n the number of compeounding Eef__ods r the annual
2
interest rate, and t the time. Find the time, t. // i v UU = / _).,( [.03/t35)
O -
ta years AT /Af): 2"/["([ 02/

(Do not round until the final answer. Then round to one decimal place as needed.)

¢ , £8Y = 26L()o311:)
fif=E (103 nnt 2L LE
/ T Lj‘—,{/:dflz_l’.)

Answer: 9.6 /g._(ﬂ 7) :—/4 (/,a:j’ /15) 2¢ S"@Z]j‘__‘;_ﬁ_

k

141.

142.

An artifact originally had 16 grams of carbon-14 present. The decay model A=16¢ “U00TEN gescribes the amount of
carbon-14 present after t years. Use the model to determine how many grams of carbon-14 will be present in 7584
years.

The amount of carbon-14 present in 7584 years will be approximately grams.

(Round to the nearest/gtjole nu;l;f)e ( -0, 00921 (157 L() fd*—ﬂ/f
T A S

Prehistoric cave paintings were discovered in a cave in France. The paint contained 13% of the original carbon-14, Use
the exponential decay model for carbon-14, A=A, ¢ _0'00012". to estimate the age of the paintings.

b (412) =~ .oo0f2) £/ )

The paintings are approximately | ] )years old. }I}ound tg'the nearest intéger.)
—{/. Q00 2
. o '_0( C)'.,v
Answer: 16,861 /5% /er 0, 00v (¢ /& ( /g) fz{
s ;”zw ___A— /W e : _7A(:{ })_ .:...—:0_: 0._._ jzf_ér
D
. 0'00615/é —0001.)’1’ -—-O/QU‘]L]

/g(,” g ) (//655/@32716 7
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143, In2 e
Use the formula t= & that gives the time for a population, with a growth rate k; to double, to ang

questions. /4 g /ﬂf’/ 4
The growth model A=5¢ 0.007 yaseribes the population, A, of a country in millions, t years afte
O.07& /
. , " _
a. What is the country's growth rate? 200 - /()) 6 o 07¢ /4(2) 0 007é
% A
—— v 0 710 - quwre
! ill i i ion?
b. How long will it take the country to double its population? 2__ 6 o p J OU7 Y. J7

| years (Round to the nearest whole n/?er Ce U0 7.(/
()=

Answers 0.7 /K( ) Jd. 00 76}?‘1(’(’/
s Zyaje

144. Solve the system by the addition me

~7
x-y = -1

Xty

(—v -3)

s present in your choice. ?_X"-f U= 3
2 = — Jl

Select the correct choice below and fill in any

O A. The solution set is { B } {Simplify your answer. Type an ordered pair.) 9 %
(7} B, There are infinitely many solutions, /?:— = _"Z

—

i
() €. There is no solution, =
=%

Answer: A, The solution setis . {Simplify your answer, Type an ordered pair.)

—— mr—— - i S— - if ————
145. Solve the system by the addition m ho -1 —/ Uj /2
x+5y = 5 ) /f)(—f/d‘7 Z-55
Ix+2y = =11 —
| 3¢ +0 = -G5S
Select the correct choice below and fili in any answer boxes present in your choice. 3
/3 = =65
O A. The solution set is { } (Simplify your answer. Type an ordered pair.) 6
() B. There are infinitely many solutions, ,_/,-IA = :-——j-:-
(O €. There is no solution. /3 / 7
( g I
Answer: A, The solution set is — (Simplify your answer. Type =

fo —~/oy ==Y

/ ,__/,)\7 _,/ /d-«/_;?
—/ ~ —20

—f O = 2L
/> e

Rofan e

2R12019. 2:H PM
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mghf,z eli A3 XL 2D Predr
/4744 v+ /( )
x+y +8z= 22

i
x+y +4z= 10 A [
x+5y-3z=-23 [} 5’ '5 FV(/ (@

Select the correct choice below and fill in any answer boxes within your cHoice.
() A. There is one solution. The solution set is
{ , , }}- (Simplify your answers
(O B. There are infinitely many solutlons _
(O €. There is no solutios-
H,2)= (3 >

146. Solve the given system of equations.

Answer: A,
There is one solution. The solution setis {{| 1 i - 3 A )} (Simplify your

answers.}

e —— .. TR s —

147. Write the first four terms of the sequence whose general term is given.

2n
= h+s

a;= | (Simplify your answer.}
a;= l (Simplify your answer.)

8, =l (Simplify your answer.)
a, = (Simplify your answer.) '
e () -

2N _ __Z__ s Z {//’5 : _3"
Answers a’ = (D)T S | 1 3’_ 6 )

Wl sl & W=

59 nf A 4/28/2019. 2:11 PM
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148. : L/!Jf‘ )/C/A?j C“/C'\D"\ N\
Find the indicated sum. k(k+ 1) S b g 4
541/4_;? =, /47 ot 4/

4
Z kik+1)= i (Slrnphfy your answer.)

T ()~ L2t ) 33T/ (%) =
1) +2¢3)—¢ 3¢4) F F(1)=

e R S
149. Use the binomial theorem to expand the binomial. LE;)

(5x- 1)

{5x- 1) I—_I(Slmpllfy your answer. ) )(5‘ < ///) _f(}/ (f/ l/}/’} #() / 5()/ I )'({I) ( I)(—-t) —
(1) (1tsx )(/) + 328X Y )= 3N =+ (LPlr) =

Answer: 125y - 75x2 +1s><-1<i:_[2 (.)( — 75')( { 'f' / S_L/_ /;

T

150. Write thﬁiﬂiﬁ_ﬁg t_erm_gpifﬁe binomial expansion, expressing the result in simplified form.

(x+4)8

The first three terms of the binomial expansion are
(Simplify your answer.}

ot X 9 9)—7‘ ¢ @ }///—f C()()/ ).

(//M//)f ﬁ/ﬁ« Y wf///u -
' 2ax wx/ij“

R S
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